

Palazzino in Cospicua



Cospicua, South



€1,170,000

Reference No: 240091103-186

 Total Rooms: 15

 Floor Area (m²) : 360

 Bathrooms: 3

 Bedrooms: 6

Palazzino - For Sale - Cospicua

A unique opportunity to acquire a 400-year-old Palazzino located in the heart of Cospicua (Bormla), one of Malta's most historically rich and fast-developing areas. This freehold property is situated within an Urban Conservation Area (UCA), making it eligible for government renovation incentives and favorable tax conditions. Spread over three full floors plus two underground cellars, this residence boasts six bedrooms, three bathrooms/toilets, a private washroom, and a traditional internal courtyard that allows natural light to flow through the home. It retains authentic features such as a well, thick limestone walls, traditional staircases, Maltese traditional tiles, balconies, and high ceilings with slabs and wooden beams, with the added benefit of own airspace, offering further potential for a rooftop terrace. From a development perspective, the property offers multiple income-generating possibilities. Its layout and footprint make it suitable for conversion into a boutique guesthouse, subdivided apartments, or luxury rental units, with enough space to explore the addition of a street-level garage (subject to planning approval) and a lift. The cellar could be transformed into a wine bar, spa, or wellness area, adding significant commercial value. Contact listing agent for more information and viewing.

Features

- ✓ Kitchen/Dinette
- ✓ Water Utility
- ✓ Partially Furnished
- ✓ Air Space
- ✓ Balcony
- ✓ Entrance Hall
- ✓ Electricity Utility
- ✓ Central Courtyard
- ✓ Well
- ✓ Roof Terrace

Rooms

- ✓ Hallway : 6.3 x 2.6 m (16.38 m2)
- ✓ Sitting : 4.7 x 4.4 m (18.8 m2)
- ✓ Dining : 4.5 x 4.1 m (18.45 m2)
- ✓ Kitchen : 4.2 x 3.1 m (13.02 m2)
- ✓ Kitchen Pantry : 4.5 x 2.1 m (9.45 m2)
- ✓ Open Space : 4.1 x 2.6 m (10.66 m2)
- ✓ Cellar : 4 x 6 m (24 m2)

- ✓ Guest Toilet : 1.2 x 1.1 m (1.32 m²)
- ✓ Double Bedroom : 7.3 x 4.75 m (34.67 m²)
- ✓ Double Bedroom : 4.7 x 4.35 m (20.45 m²)
- ✓ Double Bedroom : 4.6 x 4.05 m (18.63 m²)
- ✓ Single Bedroom : 4.65 x 2.65 m (12.32 m²)
- ✓ Double Bedroom : 4.26 x 3.05 m (12.78 m²)
- ✓ Single Bedroom : 4.65 x 2.35 m (10.93 m²)
- ✓ Laundry : 4 x 2.7 m (10.8 m²)
- ✓ Open Space : 3 x 0.8 m (2.4 m²)
- ✓ Open Space : 3 x 0.8 m (2.4 m²)
- ✓ Guest Toilet : 1.1 x 1.2 m (1.32 m²)
- ✓ Bathroom : 3 x 1.2 m (3.6 m²)

Gallery









Genc Dapi

RE/MAX Crown - Sliema

M: 79815038

E: genc@remaxcrown.com

T: 21342410

RE/MAX Crown - Sliema

166, 169, Tower Road, Sliema, Malta